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Unit 7: Polynomials REVIEW SHEET (HONORS)

1.) Fmd the area of the trapezo1d using the formula:

A=zh+b) R=g(@)4x+at
QX-5)

4% +3

2X -5

\ ] / 1(0x%-3)| .
JH-9 |

2.) Write the product in standard form.
—2y4(3y — xy)

"’LD +~:§XY
@Xj *LD\f

3.) Kathy makes brownies using a square pan that
has side measure of x. She decides she needs a new
pan that has is 6 inches longer on each side. What is
the area of her new brownie pan'r’

(><+w)(x+w
POREIAE el

4.) What is the product of 2x + 3)(x - 2)?

@x+3)%-9)
cw« X3
QX x-U

5.) The expression 2x% — 6x + 4 represents the area
of a square. The expression 9x2 + 7x — 1 represents
the area of a rectangle. What is the combined area of
the two shapes?

@X‘“—Lox T (O T%=1)
Tt

6.) A square has a side length of 2x — 4. What is the
difference between the area of the square and the

perimeter of the square? L}-(cﬁ ¥4

A= @ww}@xﬁ- P=9X-1
— QA AT |
“LH&Q-H XY = (EX=10)

A-P=5X4-94x+ 32

7.) Simplify the expression:

8.) 8.) Find the area of the rectangle

GQX“"W” 7

L
b S R
TSRO

SW +83¥%
s 1O HOX=dy= (SAyT48%)

'—3(4y —1)+(5y+ 1)2 4. 5
- x + 5y
’QY T (SYH)\S +1) i
INT3 )Q*Hﬁo._)
'@Y T3 T O™ iﬂ 8x + 3y X g V) 4
13N+ 10N+ 4 3AXS 4 Ay %x};JrlSj
9)The perlmeter of the trianfle below is 7xy% + 10x — 2y. Find the length of the missing side. - 3

AN A=y




-10.) Simplify the expression below:
(4xy*)* (3x*y", 3

(lLDXgYL*) (u)ﬁq }
%%xU/T_

11.) Find the perimeter of a triangle with the
following side lengths:

—2y+4 and 7y — 3

w( &iﬂ ) -r@xf 3)

- [12) Find the difference:
' (~7x% + 4x + 6) - (—3x% + 5x-

T Yp 0 IR B
| S =X

D

|

| 18.) Simplify the expression below:

3x(4x® — 9x + 5) - x(7x% + 2x- 6) q

QX = §TRI 15K =TIXE -+ U
IOXT=TAO =AY +d 1%

14. ) Find the product: (4 — 2b)(4 + 2b).

|L0+8b Ib-the
|m L%b“

15.) A rectangle has a length of x 1nches and a w1dth
3 inches less than the length.

' x—3
If the dimensions were doubled, what would the area
of the rectangle be?

J03Y) QX)) IREX=1)

A¥=0 Q¥ YXI-IIK
.16') Simplify:. | o (x + ¥y 17.} Which expressmn is equivalent to y—_49
Q+x+y3)Q+X+ﬂ ) 1 4mw
WX+ A % + UKV Ay §B,;§ﬁ
N X + K\j + \/ C.1
18.) What is the leading coefficient when the 19.) Simplify:.

expression below is simplified?

10a*b - 25a%b® — Sab

6x(3x* — 2x) + 5x(— x + 7x) bab
X ja =B+ e 202-50 b4 - |
13%8+Q3 ¥ 19
20.) Write an equivalent expression for the 21.) Simplify: :
monomial below: (omty ,\11?8(1 bzz & Q) N
YN ’
) @Q—?@q -%m b 3b9




22.) Which expression is equivalent to p~”p* when p = 07 p—j +4
1 ; P“ 3
A ;5 B.p
7
C.pt . D. p4

23.)
Find the area of the shaded region:

o STNQYI
I

WX (Fx= ) GX(EW‘;R

JUAS ~ 1A~ (\l& NIRESYS

——

A% -18%

dx -2
B i
24.) Find the product: 25.) The length of a rectangular courtyard is (x — 2)
(2x = 5)(x%2 +x —3) and the width is (5x + 4). Write an expression to
x& -+ X — ':_i; reprsent the area of the courtyard.

Q% X3 [ax® -l « (SXFH)
=5 [FOREA [HE Sx3-10Rt k-]

W

, NIRRT
ARE=BR= X +15 O

26.) A rectangular box has dimensions (x + 6), (x +-2), and (x — 1). Write an expression that represents the

volume of the box. \/:]\Nh xé) + 9% ) J
= QO Q1) X% T TRxd Tiak
A DA OGN 1 [ @ g% [

N= OIS+ 4% 1] BN

27.) Kerry wants to remodel his house by knocking down a wall between two adjoining rectanguar rooms.
The width of both rooms is x + 4. The length of Room 1 is 3x + 6 and the length of room 2 is (3x — 3). Write
an expression that models the area of the new room after thew all is knocked down.

3x+6 -+ 3x—3 = U))(ﬂ—g

| | (xR )
H:lﬁw£+a1x%!a




.| 28.) What is the coefficient of the p term when the 29.) Arectangle has a perimeter of 68. .
*| expression below is simplified? ' . .
o e Let x equal the width of the rectangle.

. (4p-18) - (-p+2) e Let y equal the area of the rectangle.
- |y Y ‘
Ll— P ’ g ! P © : Write an quadratic binomial to model the area of the
I 6 -3 0 ' rectangle. A= LW
Prat) D=gL+aW GO0
3 L ‘ = L0 \j _<8Lr A
S BWZ=aL+an | _ VL
| o fug-ax=at Y= ORA~X
: 180y
| | | - = | N=TASTERA
~.1-30.) David has a rgctangle and a right triangle. \N =W~ o

"o Thelength of the rectangle is 5 less than its width. L= W~ -5
» The length of the shorter leg of the triangle is equal to the rectangle’s width. W
o Thelength of the longer leg of the triangle is twice the length of the rectangle. L=y < W =5 \}

Write a function, f{iv), that represents the combined area of the rect: ngle and triangle. L=d W l O

Rt | R=LW (WS =S (-Gl = S0 (@ w10
RO ﬂﬂ:.w/\; . @\%\w [Qwa-] ow] QRO oS 3w

%

31) o . N= WA SW
o If the area of a rectangle can be represented by i v

| (%% + 4x ~ 60), which two expressions could N
represent its length and its width? (1)) (X+H10)
KD 10 R~ 0% 90
X3 +4%-00

, gL (x - 6) O (x-5)

O«-12 [0 «+6

(x - 10) I (x + 10)




